
ácil - Eas

DESCRIPTIONID PART QTY REF.

25 min1 person

y

DDDiffifificcuuullt

Nº 2.5
Nº 3

ALLEN

UNIVERSAL

Pg. 1/5

 

Stikers set

M5 ISO 7380 Allen screw cap

Ø6,5x Ø13x 8,5 arrowhead

DIN 933 M8x45 exagonal screw

M8 DIN 125 metallic washer

Ø8,5 x Ø13x3,5 arrowhead

Ø8,5 x Ø13x6 arrowhead

Ø8,5 x Ø13x9 arrowhead

M5x16 ISO 7380 Allen screw

Silentblock M5

M5x20 DIN933 screw

M5x1 Nylon washer

M5 Special nut

M4x16 ISO 7380 Allen screw

M8 self-locking nut

Silentblock M4

M4x0,5 Nylon washer

Right headlight displacer (R)

Left headlight displacer (L)

Left superior metal support (L)

Right superior metal support (R)

Screen

ABS fairing

1 ADHESI-V2---249

4

2

2

2

2

2

2

TAPON--------85

CASQUI-----0298

TORNIE845Z-0012

ARANDPD125A-018

CASQUI------775

CASQUI------776

CASQUI------777

4 TORNI-I7380-493

4

2

SILENBTM5-046/1

TORNI-D933--537

4

2

ARNV00000000245

TUERC-D6923-255

5

2

TORNIAI7380_310

TUEA-D985.8-M8-

5 SILENBTM4___062

5 ARNV00000000311

1 SOPOR-4P-3-9553

1 SOPOR-4P-3-9553

1 SOPOR-4P-3-9553

1 SOPOR-4P-3-9553

1 9196 F/H/N/WM3

9230C/JM31

21

13

19

14

20

16

17

15

10

11

12

18

7

8

9

5

6

4

3

1

2

Ref.: 9553

Ref.: 9515

  -  RETRO WINDSCREEN FOR Ø195 HEADLIGHT FOR  -

 Eas

Intermediate

 black colour

 carbon look

https://www.motorcycleid.com/puig/


               
    

UNIVERSALUNIVERSAL

Pg. 2/5

HEADLIGHT DISPLACERS NOT NEEDED.

PRESENT IN THE MOTORCYCLE.

HEADLIGHT DISPLACER IS NEEDED.A B

- MOUNTING INSTRUCTIONS - 

 -  RETRO WINDSCREEN FOR Ø195 HEADLIGHT FOR  -



               
    

UNIVERSALUNIVERSAL

1

2

ASSEMBLY ASSEMBLY

Pg. 3/5

12 12

A

12 12
3

3

7
5

A

7

6
A

12

12

A

12

12

4

4

DISASSEMBLY

DEPENDING ON THE MOTORCYCLE MODEL MAY BE REQUIRED TO DISASSEMBLE THE HEADLIGHT.

HEADLIGHT DISPLACERS NOT NEEDED. HEADLIGHT DISPLACER IS NEEDED.A B

Original screwA

 -  RETRO WINDSCREEN FOR Ø195 HEADLIGHT FOR  -

- MOUNTING INSTRUCTIONS - 



          
Ü

UNIVERSALUNIVERSAL

4

 MOUNTING INSTRUCTIONS 

3

5

ASSEMBLY ASSEMBLY

ASSEMBLY

6

ADJUST POSITION
A

B

9

99

13

13

99

13

1311

11 11

1114

14 14

14

Pg. 4/5

1

1010

1010

8

2

8

8

10

8

8

ASSEMBLY

  -  RETRO WINDSCREEN FOR Ø195 HEADLIGHT FOR  -



           

UNIVERSALUNIVERSAL

STICKERS SET21

EXPLOTING

Pg. 5/5

12

1

4

16A

6
15

15

18
7 1920

5 20 18
19

17

7

12

9

2

8

10

1411
13

12

12

3

Original screwA

16A17

  -  RETRO WINDSCREEN FOR Ø195 HEADLIGHT FOR  -

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



